Investment Theory
Module 2, December 2005
Final Exam Solutions
Part 1 (one-point questions)
1. How does the transition from the actual to the risk-neutral probability distribution affect the asset’s volatility: (i) ↑ (ii) ↓ (iii) = (iv) ‘?’
Does not change: (iii). This is Girsanov’s theorem.
2. How does an increase in the underlying asset’s dividend yield affect the current prices of forward and European put option (with fixed delivery/exercise prices)?
Decrease / increase.
3. How will an increase in the negative skewness of stock returns (a larger number of negative outliers) affect the graph of the implied volatility as a function of the option’s strike price?
The implied volatility for low strike prices goes up.

The volatility smile becomes a “grin” (ухмылка :).
4. Specify the restriction(s) on the future payoff of the self-financed portfolio if there are no arbitrage opportunities (in the static discrete-time model).
Arbitrage is a situation when there exists a self-financed portfolio θ with a non-negative future payoff different from 0: θ’p = 0 and 0 ≠ Dθ ≥ 0 (see lecture notes). To prevent arbitrage, it must be that both 0 ≠ Dθ ≥ 0 and 0 ≠ Dθ ≤ 0 are not satisfied. 
Clearly, either one of these conditions is not sufficient (we could make arbitrage with a reverse portfolio -θ); the condition 0=Dθ is not necessary (the portfolio may have positive payoff in some states and negative in others).
5. What is the put option’s delta according to the Black-Scholes model (assuming no dividends)?
N(d1)-1=-N(-d1). 

One could derive the answer either based on BS formula for European put or using the put-call parity and BS formula for European call.
6. What is the main drawback of the APT from an empirical (application) point of view?
The APT does not specify the factors and their number.
7. Define two measures of risk-adjusted performance of a mutual fund.
E.g., Sharpe’s ratio (E[Ri] - RF)/σi and Jensen’s alpha E[Ri] - RF - βi(E[RM] - RF)
8. Describe how a synthetic futures with the delivery price K can be constructed from call and put options.
Long call and short put
9. Which line describes the relationship between the assets’ expected returns and systematic risks?
The security market line
10. What assumption(s) about the investor preferences does the APT make?
There is at least one non-satiated investor (with strictly increasing utility function); homogeneous beliefs about the data generating process. 

The latter is not exactly about investor preferences, yet was rewarded with half a point.
11. (bonus) What can you say about the number of redundant assets in the static model with 5 states of the nature and 8 assets?
Between 3 and 7.
Clearly, there are at least 3 redundant assets; if the market is not complete, the number of redundant assets equals 8 – rank of the payoff matrix.
Part 2

1. (5 points) Prove that the current price of an American call with strike K always exceeds its intrinsic value (max [St-K, 0]), assuming that the underlying asset with the current price St pays no dividends.
This is a reformulated theorem that the early exercise of American call on non-dividend-paying stock is not optimal, see lecture notes for the proof.
2. Consider a usual set-up of the CAPM. Assume that investors incur transaction costs for the full size of their position in each asset.
a. How will the introduction of fixed transaction costs (per one stock) move the minimum-variance frontier and affect the CAPM beta equation?
Clearly, this lowers the expected returns, but does not change the covariance matrix. This results in the downward shift of the frontier. Note that the larger the (dollar) size of the portfolio, the lower the impact of fixed transaction costs on asset returns (e.g., $1 transaction costs would have practically no impact on $1 mln positions). In the extreme case when transaction costs are infinitesimal and have no impact on the optimal portfolio, the CAPM would still hold. However, in general this is not true, since investors become interested in keeping lower number of assets in the optimal portfolio. 
b. (2 points) Same question with transaction costs proportional to the stock prices.

c. (3 points) Same question with transaction costs proportional to the asset prices and being larger in case of short sales than in case of long positions.
d. (3 bonus points) Formulate the general optimization problem of finding analytically the efficient portfolios a la Markowitz under the conditions of (c) (write the objective function and all relevant constraints).

Consider (c), which involves (b) as a special case. Now the asset with original return R=P1/P0 brings ((1-τL)P1-P0)/P0=R(1-τL) in case of long position and -R(1+τS) in case of short position. Let us focus on the case with N risky assets with original returns R~N(μ, Σ), when no risk-free asset is available. This is convenient to model as having 2N assets, imposing that investors can only take long positions in the first N assets with return R(1-τL) and that the last N assets with return R(1+τS) cannot have positive portfolio weights. Formally, the optimization problem is: 

Minw ½w’Ωw s.t. w’δ=m, w’l=1, (l’ -l’)w≥0
where δ’≡(μ’-τLl’, μ’+τSl’), 
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Similarly to the case of short-sales constraints, this results in down-rightward shift of the minimum-variance frontier and the CAPM is no longer valid.
3. Consider a usual set-up of the CAPM. 

a. (1 point) Consider two assets with betas equal to 1 and 2. Construct a portfolio of these assets with beta equal to 3.

b. (1 point) Consider an asset with beta equal to 2 and a risk-free asset. Construct a portfolio of these assets with beta equal to 3.

c. (1 point) Consider two assets with betas equal to 1 and 2 and a risk-free asset. Assume that short sales are not allowed. Derive betas that are available to market participants.

In the two-factor APT world, consider 3 assets with the following factor sensitivities (betas): (1, 2), (2, 1) and (3, 3). Assume that the risk-free asset is not available.

d. (1 point) Derive the 2-dimension set of factor sensitivities (x, y) that are available to market participants. How will this set change if the 2nd asset is not available?

e. (1 point) Assume $100 is invested in the 1st asset, $200 in the second one, and $200 in the third one. Derive factor sensitivities of the portfolio.

f. (1 point) Assume in (e) that the investments are made for the long term (i.e. they cannot be sold). Assume that additionally $100 is available and may be invested in the assets. Is it possible to construct portfolio with factor sensitivities (3, 2)?

g. (1 point) Assume that short sales are not allowed. Derive the set of available factor sensitivities. How will this set change if the 2nd asset is not available?

4. Consider call option on a stock with current price S. Plot relationship between option’s greeks (sensitivities of the current option’s price to the underlying parameters, given below) and S. Discuss intuition. (Hint: consider cases when option is in-the-money, out-of-the-money, and at-the-money.)
a. (1 point) Delta (sensitivity to S)
b. (2 points) Vega (sensitivity to volatility of S)
c. (2 points) Theta (sensitivity to time before the exercise date)
d. (2 points) Gamma (sensitivity of delta to S, i.e., second derivative of the current option’s price w.r.t. S)
a. (3 points) Suppose that X is weakly preferred to Y by all agents. Is it true that for any random variables X, Y and a constant c (i) the random variable X1=min(X, c) is weakly preferred to Y1=min(Y, c), (ii) X2=max(X, c) is weakly preferred to Y2=max(Y, c) by all agents?
b. (3 points) Suppose that X is weakly preferred to Y by all risk-averse agents. Is it true that for any random variables X, Y and a constant c (i) the random variable X1=min(X, c) is weakly preferred to Y1=min(Y, c), (ii) X2=max(X, c) is weakly preferred to Y2=max(Y, c) by all risk-averse agents? 

c. (3 points) Same question as in (a), with c being a random variable.
Решение:

a. (2 разных способа)

1) То, что агенты ценят Х  больше, чем У означает, что для любой неубывающей функции u(.) выполнено 
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2) То, что агенты ценят Х  больше, чем У эквивалентно тому, что в каждой точке t выполняется неравенство на функции распределения 
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Поэтому при всех t выполнено 
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Ответ: да, да.

b. (2 разных способа)

i) Проходят рассуждения аналогичные рассуждениям пункта а) способа 1). Min(·,C) – неубывающая вогнутая функция, поэтому 
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ii) Приведем контрпример. Рассмотрим Y=±1 с вероятностями ½, Х=0. Тогда Х лучше У с точки зрения стохастического доминирования 2-ого порядка. Пусть с=0. Тогда 
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Ответ: да, нет

c.

i) Приведем контрпример. Пусть величины Х, Y, C равны ±1 с вероятностью 1/2, причем Y=C, а X и С независимы. Тогда для всех агентов Х эквивалентно У (так как у них распределения совпадают, а  
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ii) Пример, как в предыдущем пункте, но C=X и С не зависит от Y.

Ответ: нет, нет
Критерии проверки

a. 
За полностью верное решение ставится 3 балла.

За решение, в котором ошибочно считалось, что 
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ставится 2 балла (если в остальном оно безупречно).

За решение, в котором был доказан существенный промежуточный результат ставится 1 балл.

b.   
За полностью верное решение ставится 3 балла.

За решение, в котором не приведен пример,  но сказано, что (ii) неверно, ставится 2 балла.

За решение, в котором был только приведен пример,  что (ii) неверно, ставится 1 балл.

За решение, в котором было только доказано, что (i) верно, ставится 1 балл.

с.    
За полностью верное решение ставится 3 балла.

За пример, в котором величина С по-разному зависит от Х и Y, но в котором есть ошибка, ставится 2 балла. 

За следующее «доказательство» ставится 1 балл
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, как доказано в a). Отсюда получаем нужный результат. 

Ошибка в этом рассуждении следующая: для получения неравенство 
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 необходимо не стохастическое доминирование величиной Х величины Y, а стохастическое доминирование условным распределением L(X|C=c) условного распределения L(Y|C=c). Что неверно в общем случае. Если X,Y,C независимы, то условное распределение совпадает с безусловным и рассуждение проходит.

Лирическое отступление

Пусть есть две случайные величины Х и У. min(X,c) стохастически доминирует min(Y,c) тогда и только тогда, когда Х предпочтительнее, чем У для всех агентов, у которых в точке с происходит насыщение. Т.е. для агентов с неубывающей функцией полезности u(.) такой, что u(z) = u(с) при z>c. Из этого факта сразу следуют утверждения пунктов а и b. 

(Конечно, в таком виде задача была бы намного интереснее и содержательнее, но мне она показалась слишком сложной. А. Вашевник)
5. Consider options on the stock currently traded at 250. This stock pays unknown dividends. 
a. (3 points) Suppose that the prices of European call options (with the same maturity date) with strikes of 200 and 300 are 55 and 10. Derive the no-arbitrage bounds for the European call option with strike 275.
b. (4 points) Are the upper and lower bounds from (a) feasible? If yes, construct for each of them an example of a risk-neutral distribution of the future stock price that leads to the option price being equal to this bound. If not, prove this fact.
c. (3 points) Suppose that the prices of European put options (with the same maturity date) with strikes of 200, 275 and 300 are 30, 65, and 85. Derive the no-arbitrage bounds for the European call option with strike 275.
Решение:

a. Цена европейского  опциона со страйком 275 не меньше, чем цена опциона со страйком 300. Поэтому нижняя граница – 10. 
Цена европейского опциона – выпуклая функция от страйка. Поэтому верхняя граница – 55*1/4+10*3/4 = 85/4.

b. Докажем, что нижняя граница не достижима.

Рассмотрим бумагу B, которая приносит 25, если финальная цена акции не меньше 300. Заметим, что выплаты по опциону со страйком 275 всегда не меньше, чем выплаты по портфелю, состоящему из опциона со страйком 300 и бумаги B. Но цена бумаги B положительная (иначе бы опцион со страйком 300 тоже бы стоил 0). Поэтому цена опциона со страйком 275 строго больше цены опциона со страйком 300.

Приведем пример, когда цена опциона равна 85/4. Приведем пример риск-нейтрального распределения S, т.е. распределения такого, что цены опционов C(x) = (Emax(S-x,0))*exp(-rT) и C(200) = 55, C(275) = 85/4, C(300)=10. 

Чтобы цена опциона была бы линейна на отрезке [200,300] необходимо, чтобы P(200<S<300) = 0. Поэтому будем искать среди распределений S сосредоточенных в двух точках a и b, a<200, b>200. P(S=b) = p, P(S=a)=1-p. Пусть для простоты коэффициент дисконтирования r=0. Тогда
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 , решая эту систему, получаем, что b=2900/9, p=9/20,  a –любое (меньшее 200).
c. Разница между ценами колла и пута с одним страйком – это цена форварда. Поэтому цена форварда со страйком 200 равна 55-30=25, цена форварда со страйком 300 равна 10-85=-75. 

Форвард со страйком 275 эквивалентен портфелю из ¼ форварда со страйком 200 и ¾ форварда со страйком 300. Поэтому его цена равна 

¼*25+3/4*(-75) = -50. А значит, цена колла со страйком 275 равна -50+65 = 15.

Тем самым цена определяется однозначно.
Критерии проверки

a. За верно указанную нижнюю границу ставится 1 балл.
За верно указанную вержнюю границу ставится 2 балла.

За интервал [85/4,  55] ставится  1 балл.
b. За доказательство недостижимости нижней границы ставится 2 балла.

За приведение примера достижимости верхней границы ставится 2 балла.

c. За верное решение ставится 3 балла.

За построение (с объяснением) границ, более узких, чем границы из a. ставится 1 балл.
a) 
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b) Payoffs of the option 
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Price of the option in the 1st period should be compared with option’s payoff if it is exercised in the 1st period:

If 
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If 
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· Option will not be exercised in the 1st period 

Option price at the initial point of time
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c) Payoffs of the option 
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d) 
[image: image38.wmf]5

.

0

12e

-

10

 

forward

 

 the

of

 

Value

*0.08

-3

»

=


Alternative correct, but much more time-consuming method
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e) Let’s consider the first part of the tree
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Let’s find restrictions on risk neutral probabilities, which follow from the no-arbitrage condition
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Payoffs of the option 
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Substitution of (2) and (3) into (1) gives 
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(doesn’t satisfy (*))

Therefore, 
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